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LO: To be able to use the correct method for solving a word problem.

1. Mary has 4 cups. She finds 2 more. How many cups does she have all together?
___________________________________________________
2. A hen lays 4 eggs. She lays 6 more. How many eggs are there altogether?
___________________________________________________
3. Nick has 9 toy cars. He breaks 3. How many toys cars does Nick have left?
___________________________________________________ 
4. Tony has 10 pens. 8 go missing. How many pens does Tony have left?
___________________________________________________

5. There are 10 butterflies. 7 more come along. How many butterflies are there altogether?
___________________________________________________

6. Miss Harvey has 20 pens. 11 go missing. How many does she have left over?

___________________________________________________

7. Tom has 18p. He buys a chocolate bar for 10p. How much does he have left over?

___________________________________________________

8. If Ben has 10p, and he spends 5p on some sweets. How much does he have left over?

___________________________________________________

9. Dan has 15p. He got 5p more for his pocket money. How much does Dan have altogether?

___________________________________________________

10. If I had 20p and I spent 15p. How much would I have left over?

___________________________________________________

11. Emma has 20p, and she spends 11p on some sweets. How much does she have left over?

___________________________________________________

12. I have 8 teddies. My mum buys me 4 more. How many teddies do I have altogether?

___________________________________________________

13. My dad has 13 hammers. My mum buys him 6 more. How many hammers does he have altogether?

Can you make your own word problem? Get your partner to answer it:

__________________________________________________

__________________________________________________

